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" 5. Grammar that produce more than one Parse tree for same sentence is:
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Instructions to the Students:
1. Figures to the right indicate marks.
2. Assume suitable data.

Select the correct option.

. isa set of mS.nmm.
a. Language b. grammar c. NFA d. DFA
2..Letr and s are regular expressions denoting the languages R and S. Then (r s) denotes |
“a.RS b. R* c. RUS d.R+
3. In transition diagrams a state pointed by an arrow representsthe _ _____ _ state.

a. final b. interior c. start d. final or start

4. = grammar is also known as Type 3 grammar.

a. unrestricted b. context free c. context sensitive . d. regular grammat

a. Ambiguous b. Unambiguous c. Complementation d. Intersection

6. S— Sab S—a " is which grammar ? |

a. Right Linear Grammar b. Left Linear Grammar  ¢. Linear Grammar d. None of the abov

Solve Any Two of the following.

Construct the DFA () =0,1)

i) w= Strings mgmam and ending with same characters
if) w= string with “101” as substring

Consider following Grammar:
S AIB
A~> OA | epsilon
B-> 1B | OB | epsilon ;
Give the leftmost derivation for the inputs:
1) 00101  2)1001
Construct the regular Grammar for the given finite Automata:
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C. 3 Solve Any One of the following. ,
(A) What is pumping lemma technique?
Using ?S%Em lemma show that L= ? b _ =V|5 is not regular _msmcmma

(B) Convert Following NFA to DFA
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